TYBCOM semV ECONOMICS
SR.
NO [QUESTION TEXT OPTION 1 OPTION 2 OPTION 3 OPTION 4
1|Since 1951, India has been a economy. Socialist Mixed Capitalist Feudal
Which of the following measures was adopted in 1991 to stabilize the Banking sector Capital market
2|economy? reforms reforms Control of inflation |Insurance reforms
Which of the following measures were implemented by the government in |Revaluation of the |Strict exchange Devaluation of the [Import restrictions
3|order to reduce current account deficit? rupee control rupee were increased
Remove growth Reduce
4{Which of the following is a part of Structural reforms? bottlenecks Increase Population [Employment Increase Inflation
Setting up of new
Abolition of Public sector Permitted foreign |Removal of MRTP
5|Which of the following is not a feature of the new industrial policy 1991? [industrial licensing |enterprises investment limit
Health and
6| Which of the following is included in social infrastructure? education Mobile phones Laptops Computers
7 is an initiative to make India a manufacturing hub. Make in india Invest india Skill india Niti aayog
Human Human Development [Human Department|Human Development
8|HDlI is Development Index |Inequality Index Identity
It is aimed at
Free education to all providing quality
children between 6 |It was enacted in It is an adult elementary
9|Which of the following is not true of the right to education act? and 14 years 2009 literacy programme |education
National programme Rashtriya
for education of girls [Model schools madhyamik shiksha |Kasturba Gandhi
10|{The scheme for improving access to secondary education is at elementary level |scheme abhiyan balika vidyalaya




